X£4 | EI0MAETERAFALTATHRE |

HEEIRNEEREIRE

—iRE& D& 15 AEMSLYRTYF, 2y MERT1—R%L
13—k 3tyhrBIE. 8BRTOFzoPa—M L
[ ] pATA mpuT
HFIIHEIE
A R F—L FE-BE BIZE - fo ik
1 BREFX REFR BHEFR HEFX
2 | BHEAFEX HBHEHFR TREFRE =L RFX
3| FTlRAFFKX 2L RFX RAFRX BEFEX
4| BREFE REFX REFEK HHEBEFR
5 REFE BHBAFR FEHFRX TIRFFE
6 BEFR TREFK 2Lt RFR RAFX
7| BXRFR REFR BREFRE BHEHEFRX
8| HEF¥KX HHFZE REFR HEFX
9| XEF¥E HEFX TRAFR IRAFER
10| THRAFEK RAFRX HEFX ELRFR
11| #HEPR ELRFR RKEFK BREFX
12| HHEEFE TRAEAFRX BEFE ELRFX
13| BREFR ELRFX WAEFR KAEFE
14|  XKBZEER RAFR BEHPAPX TREFRX
ST — L\ 1 2 3 4 5 6 7 Bt |
N S i\‘. v | K| IR
5o |BRFR| AEFR | HERPEK BEPR | TRAYR BTRFE RAFE)| 2 & g i
N 11— 15[15 — 9 15— 11| 8 — 15
1@2*%12—15 15—8%\/15—1412—152 o114

50 o135
\/15—5 7= 15
8

0
9

3| mEMFR| 8 — 15| 5 — 15
0

o 15 — 13| 15 — BR—o e
4732$ (/ 15— 7|15 — 5 % 15— 7|15 — 2 48|67 1
0—0f0 —0 - L
3 — 15| 6 — 15 el
5””?“?/ f 2 — 15 —15(/9——15 2 — 15| 0 |-8|-74] 7
0 —0]0 — 0 - =

1515 — 12
— 15|15 —

O N OO d4 O
I

15 — 6
15 — 6
0 - 0

9

0

15 — 5
/15_2
0 — 0




AX£4 | EROEAEHERHFALTATHRE |

BafzE| 4% 6

g£l12|{A] 1] 8]

— iR & DER 15AEM3EYMTYF, 22V ERT 2 —REL
23—k 3tykBIlE. 8BRTOFYa—MIL
[ ]pATa meuT
HFIIRSIE
B Xt F— L ITE-RE BIZE - fo ik
1 EFX HEFR FEFR BHRFX
2 ERZER EFHEFR | MXOE¥R | BER¥R
3| MARDEEFK BERTFX BHFX MEFX
4 MEFX HHEFX HEZFRX EEFX
5 HEFX FEFR BHRFR | IROEFR
6| HARFYR | MAOEZR | BHRFER HHPX
7 ERTFRE HEFRX MEFRX FEFR
8 MEFX FEFR HEFRX HERFR
9 HLIEFX BHERFR | IXROEFEX BHFEX
10| MADEFR HMHEHZEX HHEHRFRX BITFR
11| BHRZER BAFRE HEIFX MEFRX
12| BERFR MARDEFR HMEFE ERTFR
13|  FMEFER B HAZEX HEFX
14| HEFK BHFR FERFE | MRDEFR
ST — L 1 2 3 5 6 7 Bt | &
Al v |%k|IE
S MEYX | HL¥X | BEYRX | PR | MA0EsK| BEFER | EHERX g % g fiz
_— 6 — 15[15 — 9 15 — 13[15 — 7
= (6—1511—15%(4—1515—720—63
= Bk 8l 5l
15 — 6 15— 3[15 — 15 — 14
AEER| 15 — J15—515—5 (/{/14—154 7 |65] 1
0 — 0 = — 15— 10
9 — 15[ 3 — 15 15— 9]7 —15
Hﬁ’é"ﬁ? 15—115—15(/15—12 12—15\/\//1—3—365
5 — 15[ 0 — 0 = —
5 —15|9 — 15 15 — 10[10 — 15
mﬁz\/ 5 — 15 12—15%15—711—15\/ 1|-4|-25| 6
0 —0[|0 —0 = —
15— 710 — 15 10 — 15[ 15 — 7
‘mggi(/fw—m 7—15\/6—15 7 — 15| 1 |-3|-19] 4
0 —0f0 —0 — B =B
13 — 15 15 — 10| 15 — 10 15 — 13
ﬂﬁﬁﬁiz15—4/(%15—n 15 — 6 (}15——4 417 |52| 2
15 — 8 0 —0[0 —0 -
7 — 15|14 — 15 7 —15[13 — 15
mm#z7«-1515—14\//15—7 4-—15%1—4-317
0 — 0|10 —15 15 — 12/ 0 — 0




K24 | FIOEMREFTERWMAT4THKRE | |FER R6 | £ (12| B | 1| B
—EEDE 15REM3YrTYF, 2 YMERT1—R%EL
3 O—k 3tvhrBIEX, SR THFzPa—rEL
DATA INPUT
BFIIHEIE
e F—L4 BHF—L
1 TRRAERX BREFX BARZEX FEX
2 iﬁ:&ﬁlz FLUERX HEFX KAEERX
< HERER KBEER THRAZERX FUER
4 TRAZR FLFEX KAEZER RAZX
5 RARER RKEER BREERX BEFRX
6 BREER HEERX RARZERX THRAZRX
7 TRRAER RARZER FLFERX HBEFX
8 HBEFR FLER KEFER BEFX
9 BEFRX KEER HBEFER TRRAZER
10| TRAZR BEFERX BEZX IRAZEX
11 BEFER RARZER FLER KEERX
12 FILFER KAER THRAZER BEER
TF— A 1 2 3 5 6 s A
TB&$$ ) =5 = ) =5 Eit Ty Tif; E
S X BREFR | REAER | & X | ZE8ER | KEZERX ;& P | R
11 - 1518 - 15|15 - 14|10 - 15
1?5&5%%15_1212_1515_1412_15f1_3_235
gii= 15 = =
15 - 11 6 — 15 15 - 14|12 - 15
2%&%#212—15%11—15%15—1115—1332 1 3
15 - 9 = = 15 — 12
15 - 8|15 - 15 - 14 15 - 14
3ﬂ§$$l215—1215—11w/15—14(/15—104831 1
0 - 0|0 - = =
14 - 15 14 - 15 15 - 11|15 - 12
4%M$E14—15/ 14—15%12—1510—150-6—106
1352 5
11 - 15 14 - 15
5| HEFK 15—12/15—1232 7| 2
15 - 13 15014
12 - 15|15 - 14
6| KEER 15-1012—15/1—3 -6 | 4
15 - 12|14 - 15




A&% | BIOEAETERMBALT(7HAE | BB R6 | F|12| A | 1| B
— iR & DA 15REMBEYRTYF, 22V MERT 1 —REL
4 O—h 3tyhbBIX. 8RTHOFIII—MEL
DATA INPUT
BrIEBREIR
HEIR F—L4 BHF—L
1 HEFX BHEFR HEFX HMEEF X
2 HLFR FEFX HARDEFX BHPR
3 | MRDEFR BHEPX HEEFR MEFR
4 HEFX I F X HHEFX HLFX
5 HLFR BEFX REREFR | MROEEX
6 | HBHMPX | MAOEFR HLFRX HEFX
7 HEFX HLFR AEF X MADEFX
8 | MADEFR MEFX BHPR HHEFRE
o | HHPFEX BHEPR MARDEFX HEFX
10| HEPX MARODEFX | HHAMFER HLIFRX
11| REHEFR HLFX AP X BHFR
12| MEFR REFE HSFX BHEFEER
WEF— I 1 2 3 4 5 6 % el @
smeery | BEEE | o s |z x| mmex | 2 |22 & | @
FpS HZEFX = HEFR | IE¥R |0f022R| HHZERX % P2 2
g 5|58 Bl o 10119 S
1%:&%3‘42\/14—1515—9 7—1510—15%1—3—154
- - 5 - 15 ~
15 - 9 58 o = e
2'3532@%15—14/13—15\/15—1315—94738 1
0 -0 15 - 5 ~ -
8 - 15| 8 - 15 4 - 15 b =
3591*#*129—1515—13/11—15/ 6858 O | 6|-49]| 6
0 - 0|5 - 15 - 14 - 15
10 - 15 15 - 4 e g s = i
4%1]55#“—1215—7(% 15—11/15—1215—63434 2
15 — 5 0 -0 10 - 15 —
15 - 12| 8 - 15 15 - 11 5 = 8
5|{mxo2%x| 15 - 10 13—15\/ 12—15/ 14 - 15| 3| 2|22]| 3
0 -0[l0 -0 15 - 10 15 — 4
14 - 15|11 - 1512 - 15| 8 - 15
a;ﬁmilz/ 9 - 15|15 - 6 6—1515—14/1—4—305
0 - 0|15 -14]0 - 0|4 - 15




